20169 108 Mcl=Sx =

Al

E cadx

=
RS
(Ch - B, M=, %)
= . 2015.01.01 ~ 2015.10.30 | 2016.01.01 ~ 2016.10.30 32E
< k) =49 3k =) = (%) = (%)
=27} [ 9 FE 3,539,574 6,646,453 3,688,834 7,038,607 42 5.9
A | s E 2,999,372 5,057,031 3,186,591 5,286,873 6.2 45
He} | A FE 165,917 289,415 79,571 227,303 A52.0 A215
=5 | sEEAE 163,198 233,520 75,887 150,501 A53.5 A35.6
<A 18,767 43,904 21,147 42,131 12.7 A4.0
- R aF 5,162 11,369 6,613 12,994 28.1 14.3
- A 79 265 53 162 A32.4 A38.8
- AAF 65 2,861 60 2,848 AT6 A0.4
- 3 F 671 3,105 503 2,599 A25.1 A16.3
- RAF 3,605 10,005 3,835 10,196 6.4 1.9
- WAF 65 286 13 16 AT9.9 A94.3
- H = a17] 55 276 16 81 AT0.4 AT0.7
- MESH 8,388 13,999 9,059 11,030 8.0 N21.2
- AP RS 678 1,738 995 2,204 46.8 26.8
Ve 144,431 189,615 54,741 108,370 A62.1 A428
i 3,202 6,303 3,001 6,380 N6.3 1.2
- A1 1,111 2,100 1,460 2,689 31.4 28.1
- IR 9,827 9,674 8,292 8,270 A15.6 Al45
- AAF 2,372 9,962 2,162 9,268 A8.8 AT.0
- dAxF 0 0 0 0 0 0
- 3EE 0 1 1 5 600.0 380.0
- BAR 14,633 6,646 21,653 8,631 48.0 29.9
<A 2,719 55,896 3,684 76,803 35.5 37.4
- o F 67 378 94 511 39.4 35.1
- AAEE 191 410 329 1,204 72.0 194.0
B 2,423 54,732 3,102 73,993 28.0 35.2
- 4R 0 3 1 17 250.0 475.9
- 7€ 38 373 159 1,078 319.5 189.3




1 F714A

¥ AGEE FRrE FEH/E

(el - B, M2, %)
(201611 -01610.30) 0. G
= = 1.1:~2016.10.30. (2016.1.1.-2016.10.30.)
T F kg =4O & ke =4 T E %) = 4%

FAFLAE 3,688,834 | 7,038,607 79,571 227,303 2.2 3.2
SR EREE 3,186,591 | 5,286,873 75,887 150,501 2.4 2.8
A 333,711 858,873 21,147 42,131 6.3 19
- Aaw 76,825 202,685 6,613 12,994 8.6 6.4
- A 19,393 65,361 53 162 0.3 0.2
- AT 4,660 104,643 60 2,848 13 2.7
- a5 2,398 20,753 503 2,599 21.0 125
- BUF 115,256 232,634 3,835 10,196 3.3 14
- AR 12,423 30,082 13 16 0.1 0.1
- A 37] 1,696 5,499 16 81 0.9 15
- AERF 24,021 31,703 9,059 11,030 37.7 348
- YRR 77,040 165,516 995 2,204 13 1.3
e 2852880 | 4.427.999 54,741 108,370 1.9 2.4
- aF 108,007 330,560 3,001 6,380 28 1.9
PPN ] 58,532 153,317 1,460 2,689 25 18
- 7 345,534 299,429 8,202 8,270 2.4 2.8
- A 106,335 362,485 2,162 9,268 2.0 2.6
- Axw 61,518 849,454 0 0 0.0 0.0
e 28,316 135,178 1 5 0.0 0.0
- 2R 619,194 185,800 21,653 8,631 3.5 16
G 502,244 | 1,751,734 3,684 76,803 0.7 14
- ol 292,264 863,786 94 511 0.0 0.1
- AAEE 70,260 279,618 329 1,204 05 0.4
N ES 39,014 363,660 3,102 73,993 8.0 20.3
- BAR 8,258 108,060 1 17 0.0 0.0
- 7let 92,447 136,611 159 1,078 0.2 0.8




1 Ag2s +2 49 400 22
chel - =, T &, %)
= 2015.10¢ & 2016.108 = FHE
No. =9 = = o
B =9 B =9 E =9

1 x4 2,391.1 54,554.6 3,077.3 73,776.7 28.7 35.2
2 SHEAXNEFE 96,441.3 | 140,298.3 10,496.3 61,036.9 A89.1 AD6.5
3 a17] 8,362.6 13,986.9 8,822.5 10,913.5 5.5 N22.0
4 vz g7k 2,732.4 8,418.1 3,116.2 9,555.7 14.0 13.5
5 H] ~7) 2,217.2 9,402.0 2,034.0 8,756.5 A8.3 6.9
6 SRR 14,479.5 6,432.6 18,948.8 7,655.2 30.9 19.0
7 H 2,304.2 5,922.5 2,528.1 6,322.1 9.7 6.7
8 o 7,645.0 5,416.6 5,763.2 4,082.4 N24.6 N24.6
9 Ee 1,975.6 3,256.5 1,832.6 3,483.4 ANT.2 7.0
10 A+ 1,057.5 2,990.3 1,103.6 3,023.2 44 11
11 e = 2,276.8 2,385.5 2,358.5 2,900.8 3.6 21.6
12 Ll 1,186.3 2,882.7 1,148.7 2,827.4 N3.2 AL9
13 I 769.2 1,509.0 1,057.9 1,980.7 37.5 31.3
14 el 578.1 2,587.2 387.8 1,860.3 AN32.9 A28.1
15 S 1,432.5 2,088.5 1,607.3 1,679.7 12.2 A\19.6
16 & 1,154.9 1,548.7 1,192.1 1,566.3 3.2 11
17 4t 12.3 1,612.6 11.6 1,472.3 D3 N8.7
18 e ZA X 5 E 402.1 1,523.1 448.0 1,427.0 114 6.3
19 71t A 391.8 1,016.6 599.6 1,298.8 53.1 27.8
20 &t 196.0 105.3 1,973.8 9774 907.0 828.3
21 7 e e 192.2 856.7 215.2 816.5 12.0 NAT
22 Bldi=y 189.6 392.7 300.7 798.2 58.6 103.3
23 Z 375.2 654.5 458.5 795.6 22.2 21.6
24 a4t 0.1 0.6 5.2 666.7 10,236.0 108,309.4
25 = 304.3 669.8 306.7 656.0 0.8 N2.1
26 AT 553.0 1,164.6 315.7 622.2 N42.9 AN\46.6
27 wF 178.3 275.2 315.7 615.8 77.1 123.8
28 71eb 89.0 123.6 484.3 600.8 444.1 386.1
29 =3} 81.7 404.1 92.4 598.9 13.1 48.2
30 HY A2 A 13.8 373.3 11.1 588.3 A19.2 57.6
31 A71& 30.4 173.4 74.2 557.0 144.4 221.3
32 Eng 285.9 638.2 228.3 536.2 N20.2 A16.0
33 | o] A 2] ¥k 20.9 56.2 112.0 524.1 435.6 832.9
34 71eta4 153.7 721.2 101.7 501.8 N33.8 N304
35 Ky 216.4 404.4 261.0 458.5 20.6 134
36 N aFA 2.4 65.8 7.8 433.7 221.6 558.7
37 =] 0.0 0.0 2,528.6 424.1 0.0 0.0
38 2 QA A = 16.0 64.1 9.1 376.7 488.3 487.7
39 2% 212.2 330.4 253.1 374.1 19.3 13.2
40 - 49.9 198.8 75.5 315.1 51.3 58.5




